restart
Ecuacion := diff (y(t), t$2) + gravedad =0;
2

Ecuacion := % y(t) + gravedad =0 Q)
gravedad := %;
gravedad := ig(l) 2
Ecuacion; ,
2 (b + g =0 ©)
SolucionGeneral = y(t) =- %eckadt. 2+ Cl-t+C2
SolucionGeneral = y(t) = 23(1) £+ Clt+C2 @)

Condicioneslniciales := y(0) =2, D(y) (0) =67 sm( Z' )

Condicioneslniciales:=y(0) =2, D(y) (0) = % J2 (5)

Sstema := subs(t =0, rhs(SolucionGeneral ) =2), subs(t =0, rhs(diff (SolucionGeneral, t))

:67§n(%)) . Sstema,; Sstema,,,

C2=2
c1=%?¢§' ©6)
Solucion := solve( {Sstema}, {C1, C2}) : Solucion;; Solucion,;
Cl—fg»Jf
Cc2=2 (7)

SolucionParticular, == y(t) =subs( C1 =rhs( Solucion, ), C2 =rhs( Solucion,),
rhs(SolucionGeneral ) )

SolucionParticular, :=y(t) = ggé 2+ 67 J2t+2 (8)
SolucionParticular, := dsolve( { Ecuacion, Condicioneslniciales});
SolucionParticular, := y(t) = 2(833 2+ 67 J2t+2 (9)

plot(rhs( SolucionParticular, ), t =0..10);
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> plot([subs(Cl1=1, C2=1, rhs(SolucionGeneral ) ), subs(C1 =5, C2 =10,
rhs(SolucionGeneral ) ), subs(C1 =13, C2 =17, rhs(SolucionGeneral ) ), subs(C1 =16, C2
=11, rhs(SolucionGeneral) ), subs(C1 = 14, C2 =18, rhs(SolucionGeneral ) ), subs(C1
=12, C2 =15, rhs(SolucionGeneral ) ) ], t =0..4, color = [red, blue, green, yellow, black,
cyan, brown])
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